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Currently, crop insurance participation—defined as insured acres as a percent of planted acres—is about 80
percent. Coverage levels at which producers are insuring are generally high. But coverage levels continue to be
low in some regions and for some crops. Thus, while most U.S. crop production is insured, pockets of inadequate
protection raise the prospect of ad hoc disaster assistance.

Drought has been the source of the largest share of crop insurance indemnities. From 1989 to 2004, drought
was listed as the primary cause of loss for about 40 percent of indemnities. Excessive moisture, rain, or flood
accounted for about 30 percent, followed by frost, freeze or cold weather, and hail, each of which accounted for
about 10 percent of indemnities.

Does crop insurance need to be strengthened for it to be the primary form of disaster aid to farmers and
- franchers? The use of premium subsidies to encourage insurance participation and to raise coverage levels is costly.
Additional subsidies are not likely to boost participation in large areas of the U.S. where it is already high.

The Administration’s proposal would mandate participation by linking it to other farm program benefits. This
requirement would likely bring more acres into the crop insurance program. However, cuts in subsidies may lead
some producers to reduce their coverage levels. In the end, whether participation and coverage would be adequate
to forestall future ad hoc disaster assistance legislation will depend on perceptions of coverage, the fiscal
environment, and the political decisions of Congress and the Administration.

Vote: Coverage level could be thought of as a deductible. The difference between your selected level and 100% is
E:e deductible for that protection unit. In insurance, deductible is the amount paid for the covered service before
insurance plan starts to pay.

= ~ (17 %) Under the wave and debate of GMO food labeling law in U.S., assume many food products can be

made of one ingredient that can be produced from two different raw agricultural inputs. One ini)ut is free of
genetically engineered production process, While another input relies fuily on such process. Under market
allotment (i.e. production quota) scheme, the supply of these two agricultural inputs will be highly inelastic at a
certain quantity. Please use microeconomics tool and graph to analyze how the enactment of GMO food labeling
law would affect the market-level response of these two agricultural inputs, the winner and loser under this

institutional background, and what are the gains and losses for the stakeholders in this industry.
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W~ (324 B4 44) A firm has two factories for which costs are given by:

Factory #1: €1(Q,) = 10 QF; Factory #2: C,(Q,) = 20 Q2.

The firm faces the following demand curve: P = 700 — 5 Q, where @ is total output, i.e., Q = @, + Q.

The firm maximizes its profit (7). The equilibrium values for the output of factory #2 Q3 = __(A) _, the
total output @* = __(B) , the marginal revenue MR= (C) , and the market price P* = _ (D) .

Suppose that labor costs increase in Factory #1 butnet in Factory #2. How should the firm adjust (i.e., raise,
lower, or leave unchanged) the following variables? The output in Factory #2 would _ (E) ;the total
output of the firm would ___(¥) ; the marginal revenue would (G) ; and the market equilibrium price

B84 BR3Y) RENAMELALE Y - RERTHRETHES - £RE 38
FREFTRERLD A FARES-.. BARE _@0 %8718 -508LERME -
ARARRE  BRM Tl > REEHEHE - SR A S 40b A asis
AHBRER > . RERASFRERE AKBELE - RERB 1451 AAL
(2 BE KU RA _(0) e £ EMAATEER R RE R AR G5 4d
RRATHAR © HHWT 710 £ 48 M0 52 A0 S - [/ R AE Rsbs B30 )
RHER _00 [HHAELEARN] RS 0 [REFLEEERTHAER
RERIHEE] RBEN oD w [AREERREN] HABES __ -

- REE AN






